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PŘIJÍMACÍ ZKOUŠKY Z ANGLICKÉHO JAZYKA 

Čtyřleté studium

I. Read the text and mark the sentences TRUE or FALSE:

Men don´t see colours as well as women

Men have a reputation for wearing clothes that don´t look good together – if men do look good, it´s because their girlfriends or wives have helped them get dressed. Why´s that?

Science says: Let´s take a look at chromosomes - the parts of our DNA that control many things about us. The colour red is carried only by the X chromosome. Women have two X chromosomes, and so they are more likely to be able to see red. Men only have one X chromosome. How we see colour depends on the ability to see red, blue, and green, so women are more likely to see colours better. Being able to see colours well was important in prehistoric times when women looked for fruit for food. They had to be able to tell the difference between the types of fruit on the trees so that they didn´t choose a type that was poisonous. For them, seeing different colours meant they could survive.

Men are known to wear clothes that don´t look good together.             
True/False                                                        

Men can find it difficult to perceive three colours.                                   

True/False                                                  
It is more probable for women to be able to see red.                                 

True/False

Seeing colours well helped prehistoric women to choose the right fruit.  
True/False

II. Fill in the gap with the correct preposition:

1) Julia is very different from her sister.
2) Benedict Cumberbatch is famous for his role in Sherlock Holmes.

3) Everybody laughed at him when he fell off the chair.

4) I am fed up with this weather.

III. Circle the correct answers:

1) Have you watched DVD / the DVD that I lent you?
2) He´s hoping to visit his parents the next / next weekend.

3) They go to the dentist twice the year / a year.

4) I love the cats / cats, but my boyfriend doesn´t like them.

IV. Multiple choice: circle the letter of the correct answer:     

Chocolate

When the Spanish explorer Cortez (1) A Mexico in the sixteenth century, he found the people there using 
a drink they (2) C chocolate. It tasted quite strong (3) B it had pepper in it. To (4) D it taste better, the Spanish added sugar to it. When chocolate first came to Europe in the seventeenth century, people started to drink it with milk, (5) D of water. Nowadays, tonnes of chocolate and cocoa are (6) A to factories, where they are turned (7) B many popular sweets and cakes. (8) A chocolate and cocoa come from the fruit of the cacao tree. Cacao trees (9) B only be grown in hot countries, as they need 
a warm climate. Cacao is an American plant, (10) B still grows wild in the northern part of South America. Countries in Central and South America were the first to grow it, but today Africa (11) C the world with the most chocolate.

1.     
A  reached              B  arrived          C  got                D  went

2.     
A  announced        B  told                C  called            D  declared

3.     
A  while                  B  because         C  so                  D  whether

4.     
A  let                       B  cause             C  allow             D  make
5.     
A  apart                  B  except            C  rather           D  instead
6.    
A  delivered            B  directed        C  prepared      D  produced
7.     
A  down                  B  into                C  off                  D  over

8.     
A  Both                    B  Every             C  Either            D  Each
9.     
A  ought                  B  can                C  have              D  might

10.   
A  what                   B  which            C  who               D  whose
11.   
A  brings                 B  fetches          C  supplies        D  gives         

V.  Make a question asking about the underlined expression:

1) I went to the bank to send the money.  – Why did you go to the bank?
2) This leather jacket is John´s.   – Whose leather jacket is this? Whose is this leather jacket?
3) I would like to go skiing at the weekend. – When would you like to go skiing?
VI. Complete the sentences with the correct form of the verbs in brackets, either active or passive:

1) The script was written (write) by the author of the book 2 years ago.
2) You (will) have to water  (to have to water) the flowers next week.
3) We haven´t booked/ we are not going to book …. yet (not to book) the tickets for the concert yet.
4) How many newspapers did you sell  (you, to sell ) yesterday?
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